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318 
fo"k; %fo"k; %fo"k; %fo"k; % vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=    

Subject :ECONOMICS 
le; % 03 ?k.Vs  iw.kkZad %100 
Time  : 03 Hours  Maximum Marks :100 

 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&    ¼1½¼1½¼1½¼1½    bl iz’u i= ds nks Hkkx gbl iz’u i= ds nks Hkkx gbl iz’u i= ds nks Hkkx gbl iz’u i= ds nks Hkkx gSaA Hkkx ^v^ vfuok;Z SaA Hkkx ^v^ vfuok;Z SaA Hkkx ^v^ vfuok;Z SaA Hkkx ^v^ vfuok;Z     ekM~;wy lsekM~;wy lsekM~;wy lsekM~;wy ls    rFkk Hkkx ^c^ ,sfPNd rFkk Hkkx ^c^ ,sfPNd rFkk Hkkx ^c^ ,sfPNd rFkk Hkkx ^c^ ,sfPNd     
            ekM~;wy ls gSAekM~;wy ls gSAekM~;wy ls gSAekM~;wy ls gSA    

    ¼2½¼2½¼2½¼2½        Hkkx ^v^ ds lHkh iz’uksa ds mŸkj nhft, rFkk Hkkx ^c^ esaHkkx ^v^ ds lHkh iz’uksa ds mŸkj nhft, rFkk Hkkx ^c^ esaHkkx ^v^ ds lHkh iz’uksa ds mŸkj nhft, rFkk Hkkx ^c^ esaHkkx ^v^ ds lHkh iz’uksa ds mŸkj nhft, rFkk Hkkx ^c^ esa    ls ,d ls ,d ls ,d ls ,d gh lewg ds mŸkj gh lewg ds mŸkj gh lewg ds mŸkj gh lewg ds mŸkj     
            nhft,Anhft,Anhft,Anhft,A    
    ¼3½¼3½¼3½¼3½    1 vad okys iz’uksa ds mŸkj ,d ;k nks okD;ksa es fyf[k,A 2 vad  okys iz’uksa ds mŸk1 vad okys iz’uksa ds mŸkj ,d ;k nks okD;ksa es fyf[k,A 2 vad  okys iz’uksa ds mŸk1 vad okys iz’uksa ds mŸkj ,d ;k nks okD;ksa es fyf[k,A 2 vad  okys iz’uksa ds mŸk1 vad okys iz’uksa ds mŸkj ,d ;k nks okD;ksa es fyf[k,A 2 vad  okys iz’uksa ds mŸkj j j j 

30 'kCnksa esa] 4 vad okys iz’uksa ds mŸkj 60 'kCnksa es rFkk 8 vad okys iz’uksa ds mŸkj 30 'kCnksa esa] 4 vad okys iz’uksa ds mŸkj 60 'kCnksa es rFkk 8 vad okys iz’uksa ds mŸkj 30 'kCnksa esa] 4 vad okys iz’uksa ds mŸkj 60 'kCnksa es rFkk 8 vad okys iz’uksa ds mŸkj 30 'kCnksa esa] 4 vad okys iz’uksa ds mŸkj 60 'kCnksa es rFkk 8 vad okys iz’uksa ds mŸkj 
yxHkx 120 'kCnksa esa nhft,AyxHkx 120 'kCnksa esa nhft,AyxHkx 120 'kCnksa esa nhft,AyxHkx 120 'kCnksa esa nhft,A    

    ¼4½¼4½¼4½¼4½    lHkh iz’uksa ds fy, fu/kkZfjr vad muds lEeq[k fn, gSaAlHkh iz’uksa ds fy, fu/kkZfjr vad muds lEeq[k fn, gSaAlHkh iz’uksa ds fy, fu/kkZfjr vad muds lEeq[k fn, gSaAlHkh iz’uksa ds fy, fu/kkZfjr vad muds lEeq[k fn, gSaA    
Note:- (1) This question paper consists of two parts. Part A is from Core Module and Part B is  

   from Optional  Modules. 

 (2) Attempt all questions from part A and any one group from part B. 

 (3) Answer to question carrying 1 mark should not exceed one or two sentences, 

questions carrying 2 marks should not exceed 30 words, questions carrying 4 

marks should not exceed nearly 60 words and questions carrying 8 marks should 

be in nearly 120 words. 

 (4) Marks allotted to questions are given opposite to them. 

 

Hkkx & vHkkx & vHkkx & vHkkx & v    

 PART – A 

iz-1 fodkl’khy vFkZO;oLFkk dk vFkZ crykb,A ¼1½¼1½¼1½¼1½    

 State the meaning of Developing Economy.  

iz-2 mRiknu esa u dsoy HkkSfrd oLrq,¡ cfYd ---------------------Hkh 'kkfey dh tkrh gSaA ¼1½¼1½¼1½¼1½ 

 Production includes not only material goods but …………..also.  

iz-3 fuEu dFku lgh gS vFkok xyr &  ¼1½¼1½¼1½¼1½ 

 lHkh vFkZO;oLFkkvksa esa lhfer lalk/ku gksrs gSa vkSj mudk oSdfYid mi;ksx gksrk gSaA 

 State whether the following statement is true or false -  

 All economies have limited sources and they have alternative uses.  
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iz-4 lUrqyu dher ls vkidk D;k vfHkizk; gS\  ¼1½¼1½¼1½¼1½    

 What do you mean by equilibrium price?  

iz-5 lkglh O;olk; dk Lokeh gksrk gS tks ------------------dekrk gSA  ¼1½¼1½¼1½¼1½    

 Entrepreneur is the owner of the business who earns……....................... 

iz-6 lhekUr ykxr ls vki D;k le>rs gaS\  ¼1½¼1½¼1½¼1½    

 What do you mean by Marginal Cost? 

iz-7 ek¡x ds fu;e ds viokn D;k gSa\ Li"V dhft,A  ¼2¼2¼2¼2½½½½    

 What are exceptions to the law of demand? Explain.  

iz-8 vkSlr ifjorZu’khy ykxr rFkk vkSlr fLFkj ykxr esa vUrj Li"V dhft,A  ¼2¼2¼2¼2½½½½    

 Distinguish between Average Variable Cost and Average Fixed Cost.   

iz-9 vkxeu ,oa fuxeu jhfr ds e/; vUrj Li"V dhft,A  ¼2¼2¼2¼2½½½½    

 Distinguish between Inductive and Deductive Methods.   

iz-10 fuEufyf[kr lw= dks iw.kZ dhft, rFkk in&O;k[;k dhft,& ¼2¼2¼2¼2½½½½    

        x

f

fdxi
 A   x

∑

∑
+= --------------------------------------------------------------------------------    

 Complete the following formula and explain its steps -  

     x

f

fdxi
 A   x

∑

∑
+= ……………… 

iz-11 O;f"Vxr ,oa lef"Vxr vFkZ’kkL= esa D;k vUrj gS\  ¼2¼2¼2¼2½½½½    

 What is difference between Micro and Macro Economics?  

iz-12 fdlh oLrq dh iwfrZ dks izHkkfor djus okys rRoksa dh foospuk dhft,A  ¼4¼4¼4¼4½½½½    

 Explain the factors affecting supply of a commodity.   
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iz-13 lwpdkad dh izeq[k fo’ks"krk,¡ crykb,A   ¼4¼4¼4¼4½½½½    

 Explain main features of an Index Number.  

iz-14 vory ek¡x oØ D;k gS\ ;g dSls izkIr gksrh gSA  ¼4¼4¼4¼4½½½½    

 What is a concave demand curve? How it is derived?   

iz-15 lekUrj ek/; ds xq.k ,oa nks"kksa dh O;k[;k dhft,A  ¼4¼4¼4¼4½½½½    

 Explain the Merits and Demerits of Arithmetic Mean.   

iz-16 ns’k ds jk"Vªh; vk; vuqekuksa ds fdUgh ik¡p mi;ksxksa dk mYys[k dhft,A  ¼4¼4¼4¼4½½½½    

 Explain any five uses of National Income estimates of a country.  

iz-17 fuEufyf[kr ij fVIi.kh fyf[k,&  ¼4¼4¼4¼4½½½½    

 ¼1½ [kqys cktkj ds fØ;kdyki 

 ¼2½ cSad nj 

 Write short notes on –  

 (1) Open Market operations.  

 (2) Bank Rate.  

iz-18 vkfFkZd fodkl ,oa vkfFkZd lao`f) esa vUrj Li"V dhft,A  ¼4¼4¼4¼4½½½½    

 Distinguish between Economic Development and Economic Growth.  

iz-19 (i) 'kq) fofu;ksx ¾ ldy fofu;ksx &  -------------------\  ¼4½¼4½¼4½¼4½ 

 (ii) vk; & miHkksx O;; ¾ ----------------------------\ 

 (iii) vk¡dM+s -----------------------------L=ksrksa ls ,d= fd, tkrs gSaA 

 (iv) vkfFkZd fl)kUr cukus dh nks fof/k;k¡ gSa --------------------------,oa ------------------------ gSaA 

 (i) Net Investment = Gross Investment  -   ………..?  

 (ii) Income – Consumption Expenditure = …………? 

 (iii) Data are collected through ……………….…..sources. 

 (iv) The two methods of constructing an economic theory are 

……………and…………………. .  
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iz-20 fuEufyf[kr vko`fÙk forj.k ls izkIrkdksa dk vadxf.krh; ek/; Kkr dhft,A  ¼8¼8¼8¼8½½½½    

    

izkIrkad & 65 66 67 68 69 70 71 72 73 

fo|kfFkZ;ksa dh  

la[;k & 

1 4 5 7 11 10 6 4 2 

  

 Calculate Arithmetic Average from the following frequency distrabution of marks abtained.  

  

Marks 

Obtained 

65 66 67 68 69 70 71 72 73 

No. of  

students  

1 4 5 7 11 10 6 4 2 

 

 

iz-21 jk"Vªh; vk; ekius dh rhu fof/k;ksa dk mYys[k djsaA  ¼8¼8¼8¼8½½½½    

 Mention three methods of measuring National income.  

iz-22 lu~ 1991 esa vkfFkZd ladV ds fy, mÙkjnk;h dkjdksa dk laf{kIr o.kZu dhft,A  ¼8¼8¼8¼8½½½½    

 State briefly the factors responsible for Economic Crisis of 1991.  

iz-23 fdlds }kjk vkSj dSls eqnzk dh iwfrZ fu;af=r dh tk ldrh  gS\  ¼8¼8¼8¼8½½½½    

 By whom and how the supply of money can be controlled? 

 

Hkkx & Hkkx & Hkkx & Hkkx & cccc    ¼lewg ¼lewg ¼lewg ¼lewg ,d,d,d,d½½½½    

PART- B (Group  One) 

 

iz-24 isftax lsok D;k gS\ ¼¼¼¼1111½½½½    

 What is paging service?  

iz-25 lkSj ÅtkZ D;k gS\   ¼1½¼1½¼1½¼1½    

 What is solar energy?  
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iz-26 tksrksa dk m¶foHkktu ,oa vi[k.Mu D;k gS\  ¼2¼2¼2¼2½½½½    

 What is sub-division and fragmentation of holdings?  

iz-27 Hkkjrh; vFkZO;oLFkk esa lkoZtfud {ks= dh Hkwfedk fyf[k,A  ¼2¼2¼2¼2½½½½    

 Write role of public sector in Indian economy.  

iz-28 Hkkjrh; vFkZO;oLFkk esa lM+d ifjogu dk egRoA  ¼2¼2¼2¼2½½½½    

 Importance of RoadTransport in Indian Economy.  

iz-29 fVIi.kh fyf[k,%&    ¼4¼4¼4¼4½½½½    

 (i) xzkeh.k _.k ds lzksr 

 (ii) jk"Vªh; vk; esa Ñf"k dk ;ksxnkuA     

 Write short notes on :- 

 (i) Sources of Rural Credit. 

 (ii) Contribution of Agriculture in National Income.   

iz-30 Hkkjr esa fuEu Ñf"k mRikndrk ds fy, mÙkjnk;h dkjdksa dh O;k[;k dhft,A   ¼8¼8¼8¼8½½½½    

 Explain the factors responsible for the low productivity of agriculture in India.  

 

Hkkx & c ¼lewg nks½Hkkx & c ¼lewg nks½Hkkx & c ¼lewg nks½Hkkx & c ¼lewg nks½    

PART- B (Group Two) 

 

iz-31 Hkkjr esa fons’kh O;kikj dkSu djrk gS\ ¼¼¼¼1111½½½½    

    Who are engaged in foreign trade in India?  

iz-32 O;kikj 'ks"k vkSj vn`’; 'ks"k dk ;ksx ----------------------------dgykrk gSA  ¼¼¼¼1111½½½½    

 By adding together balance of trade and balance of invisible we get …………………………… 
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iz-33 fons’kh lgk;rk ls D;k ykHk ,oa gkfu;k¡ gaS\ ¼¼¼¼2222½½½½    

    What are advantages and disadvantages of Foreign Aid?  

iz-34 tula[;k dh rhoz o`f) dk iw¡th fuekZ.k ij izHkko dk o.kZu dhft,A  ¼¼¼¼2222½½½½    

 Explain the effects of rapid growth of population on capital formation.  

iz-35 dks"Bd esa fn, x, fodYiksa esa ls mfpr 'kCn pqudj fjDr LFkkuksa dh iwfrZ dhft,%&  ¼¼¼¼2222½½½½    

 (i) Hkkjr esa vxyh tux.kuk ---------------------------esa dh tk,xhA ¼2016] 2021½ 

 (ii) Hkkjr dh yxHkx ----------------------izfr’kr tula[;k xkoksa esa jgrh gSA ¼50] 75] 90½ 

    Fill in blanks with appropriate words given in brackets.  

 (i) The next census of population in India will be conducted in…………………(2016, 2021) 

 (ii) About ……………………percent of India’s population lives in rural areas. (50, 75, 90) 

iz-36 fuEufyf[kr dFkuksa esa ls dkSu&lk lgh vkSj dkSu&lk xyr gS%&   ¼¼¼¼4444½½½½    

 (i) Hkkjr esa dsjy jkT; esa lokZf/kd fyax vuqikr vkSj lokZf/kd tUe nj gSA 

 (ii) e/;izns’k esa izR;kf’kr vk;q lcls de gSA 

 (iii) tula[;k esa rhoz o`f) nj dks tUe nj esa rhoz xfr ls deh djds jksdk tk ldrk gSA 

 (iv) Hkkjr esa tula[;k dh rhoz o`f) nj cM+h Je 'kfDr dk lzksr gS] vr% ;g vkfFkZd o`f) esa 

lgk;d gSA 

    State whether the following statements are True or False.  

 (i) Among Indian states Kerala has the highest sex ratio and highest birth rate.  

 (ii) Life expectancy is lowest in Madhya Pradesh.  

 (iii) The fast rate of increase in population can be checked by reducing the birth rate at a fast 

rate.  

 (iv)  Fast growth of population in India is a source of large labour power, so it helps in 

economic growth.  
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iz-37 Hkkjr esa tula[;k dh rhoz o`f) nj dks fu;af=r djus gsrq 'kklu }kjk dkSu&dkSu ls dne 

mBk;s x;s gSa\    ¼¼¼¼8888½½½½    

 What steps have been taken by the Government to control fast population  growth in India?  

 

 

………………………………… 
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